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1 Water is a natural resource.

(a) (i) Define a resource
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Study Fig.1 which shows areas which have more water than they need and those
which do not have enough water.

World water surplus and shortage per year

Key:

W o Fig.1
% Middle

Low

(b) (i) From Fig .1 name one country which has high surplus of water per year.

(i)  Explain which continent may opt to stop immigration due to its condition of
water supply.
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(i) Name two countries in Africa which have the greatest shortage
of water.

(iv)  State the environmental problem faced by these countries you have named
in (b) (iii) due to lack of water, which is presently a global concern.

(v) Referring to the map in Fig.1 explain why it is not possible for international
tourist to use land road transport between Africa and Europe.

(vi)  Describe the difference between the supply pattern of water between Europe
and South America.
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(vii)  Explain the water distribution pattern in Africa in Fig.1.

.................................................................................................. [4]
2 One of the targets of Sustainable Development Goals is to achieve universal and
equitable access to safe and affordable drinking water for all by 2030.
(a) (i) What is meant by safe water?
................................................................................................... [1]

(i) Describe two ways that Governments can use in trying to make safe water
accessible to its people.
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(iii) Explain two reasons why inaccessibility to water can be an obstacle
to development.
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Study Fig. 3 which shows % of the population with access to safe water in selected
counties.

% Population with access to safe water
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Zambia Zimbabwe Mexico  Srilanka Brazil
Fig. 3

(b) (i) Identify an African country with the lowest access to safe water in the rural
area.

................................................................................................... [1]
(i) Describe the pattern of access to safe water shown in Fig.2.
1]
(iii) Give the type of migration that is likely to occur within these countries as a
result of the pattern of access to safe water described in b(ii).
.................................................................................................. [1]
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(iv) Suggest four problems that are likely to be caused by this type of migration
you have described in b (iii).
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3 (a) (i) Define population as used in research.

................................................................................................... [1]
(i) Give one example of secondary data.
.................................................................................................. [1
A researcher conducted a study on factory | In response to one of the questions asked
workers in a factory in Maseru .He had a the factory workers, some of them
population of around 2000 people. He responded as follows:-
decided to use 50 factory workers and the _ .
leader of the worker’s union. Question:- “How long do you work
This is part of a questionnaire that was in your section and how
given to the factory workers: much are you paid?
(a) (i) what is your kind of work? Respondent 1:  In my section | work for 8
hours and they pay me
(ii) How much are you paid? M3.00 per hour.
(b) (i) What is your age? Respondent 6: | work for 10 hours.
They pay me M2.50 per
(i) What is your name? hour in my section.
(c) (i) Where do you come from? Respondent 15:  In my section | work for
hours. | am paid R2.50
(i) Are you satisfied with your wage? per hour.
(iii) Does your work satisfy you? Respondent 21: | work for 9 hours in my
section and get paid
Please explain and suggest what you M3.00 per hour.
would like to be done to improve it.
Fig. 4A Fig. 4B
(b) (i) What was the researcher’s study area?
................................................................................................... [1]
(i) What is his sample size?
.................................................................................................... [1]
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(iii) Name one component of the researcher’s sample.

(iv) Provide three pieces of evidence from the questionnaire to support that
this questionnaire is not well designed.

(v) With evidence from the respondents’ responses above, state which
respondent is likely to receive the highest wage per month if they work
for 22 days a month.
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(c) (i) Suggest one other suitable method the researcher could use in this study
and state three advantages the method has in this study.

Method:

(i) Explain two reasons why a questionnaire was not appropriate for the
researcher’s study.
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(iii) Describe two ways how the researcher could select this sample
of 50 factory workers.
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(v) The researchers study was conducted on the factory workers and the
leader of their trade union.

Explain fully which two other groups of relevant people could have been
included in this study. Justify your answer.
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